caramila
W

VANDALAY BUNK BED
ASSEMBLY INSTRUCTIONS

LIT SUPERPOSE VANDALAY
INSTRUCTIONS D’ASSEMBLAGE

LITERA VANDALAY

INSTRUCCIONES DE ARMADO

CARAMIA FURNITURE 1 Woodslea Road, Brampton
Ontario Canada L6T 5P2, phone/téléphone : 905 361-1970, fax/télécopieu r: 905 361- 1969
Toll Free / Sans frais : 1 - 877-728-0 342
age 1 www.caramiafurniture.com




o 1 Woodslea Road, Brampton, Ontario L6T 5P2, Canada
C a ra ln l a Phone: 905 361-1970 Fax: 905 361-1969
Toll Free: 1-877-728-0342
W www.caramiafurniture.com

READ ALL INSTRUCTIONS BEFORE ASSEMBLING AND USE OF BUNK BED.

FOR FURTURE USE AND REFERENCE RETAIN THESE INSTRUCTION SHEETS AND BUNK BED
ASSEMBLY TOOLS IN THE ORIGNAL SACK AND SECURE IT TO THE MATTRESS SUPPORT WITH
PLASTIC TIES.

A WARNING

® Follow the information on the warnings appearing on the upper bunk end structure and on the carton.
Do not remove warning label from bed.

® Always use the recommended size mattresses or mattress supports, or both, to help prevent the
likelihood of entrapment or falls.

® Surface of mattress must be at least 5 in. (127 mm) below the upper edge of guardrails.

® Do not allow children under 6 years of age to use the upper bunk.

® Periodically check and ensure that the guardrail, ladder, and other components are in their proper

position, free from damage, and that all connectors are tight.

Do not allow horseplay on or under the bed and prohibit jumping on the bed.

Always use the ladder for entering and leaving the upper bunk.

® Do not use substitute parts. Contact the manufacturer or dealer for replacement parts.

® Use of a night light may provide added safety precaution for a child using the upper bunk.

Always use guardrails on both long sides of the upper bunk. If the bunk bed will be placed next to the

wall, the guardrail that runs the full length of the bed should be placed against the wall to prevent

entrapment between the bed and wall.

The use of water or sleep flotation mattresses is prohibited.

STRANGULATION HAZARD
Never attach or hang items to any part of the bunk bed that are not designed for use with the bed; for
example, but not limited to, hooks, belts and jump ropes.

Keep these instructions for future reference.
Replacement parts, including additional guardrails, may be obtained from any of our Caramia Furniture

CAUTION: ANY MATTRESS USED IN THIS BUNK BED TOP 39 INCHES ( 99CM ), BOTTOM 54
INCHES (1370 CM), MATTRESS LENGTH 75 INCHES (190 CM) WITH A THICKNESS NOT
EXCEEDING 8 INCHES (20,3 CM).

Always Dust Before Cleaning & Polishing

Care Cleaning, polishing

Dust furniture weekly with a Avoid using commercial cleaning product since
lint-free cloth dampened this will cause yellowing.

cleaner. Do not use window cleaners; they contain

Polish furniture every four months. ammonia which attacks the lacquer.

To clean your furniture, use Beware

a soft damp cloth with a small Liquid left on the surfaces (for a period of more or
amount of mild soap. less 24 hours) will cause the finish to peel and flake.
Wipe immediately with a dry cloth.

Avoid placing hot items directly on wood

Sun surface, this will damage the finish.

Prolonged exposure to direct Avoid placing items with rubber feet or plastic
sunlight can cause fading of placemats on your furniture, they leave indelible
the finish. marks on the finish.

1



1 Woodslea Road, Brampton, Ontario L6T 5P2, Canada

[ ]
C a r a l ] ] l a Tél: 905 361-1970 Téléc: 905 361-1969
W Sans frais: 1-877-728-0342
www.caramiafurniture.com
LISEZ TOUTES LES INSTRUCTIONS AVANT D'ASSEMBLER ET D'UTILISER LE BUNK BED

GARDER LES INSTRUCTIONS ET LES OUTILS D’ASSEMBLAGE POUR USAE FUTUR DANS LE
SAC ORIGINAL ET ATTACHER-LE SUR LE SUPPORT DE MATELAS AVEC DES ATTAQCHE
PLASTIC.

A\ MISE EN GARDE

e Suivre les informations sur les avertissements apparaissant sur la structure du haut de la couchette
supérieure et sur le carton. Ne pas enlever étiquette d'avertissement du lit.

e Utilisez toujours les matelas de la taille recommandée ou les supports de matelas, ou les deux, pour aider
a prévenir le risque de coincement ou chutes.

e La surface du matelas doit se situer a au moins 127 mm (5 po) en dessous du bord supérieur des garde-corps.

® Ne pas autoriser les enfants de moins de 6 ans a utiliser la couchette supérieure.

e Vérifier périodiquement et s'assurer que le garde-corps, I'échelle et les autres composants sont
correctement positionnés de dommages, et que tous les connecteurs sont serrés.

® Ne permettez pas le chahut sur ou sous le lit et interdisez de sauter sur le lit.

e Utilisez toujours I'échelle pour entrer et sortir du lit supérieur.

® Ne pas utiliser de piéces de substitution. Contactez le fabricant ou le revendeur pour les piéces de rechange.

e L'utilisation d'une veilleuse peut offrir des mesures de sécurité supplémentaires pour un enfant utilisant la
couchette supérieure.

e Utilisez toujours des garde-corps sur les deux cbtés longs de la couchette supérieure. Si le lit superposé
sera placé a c6té du mur, le Un garde-corps qui couvre toute la longueur du lit doit étre placé contre le
mur pour éviter tout coincement entre celui-ci etmur.

e | 'utilisation de matelas d'eau et de matelas de flottaison est interdite.

DANGER DE STRANGULATION - Ne jamais attacher ni suspendre d’objets a une partie du lit superposé qui

ne sont pas congus pour utiliser avec le lit; par exemple, mais sans s'y limiter, les crochets, les ceintures et les

Conservez ces instructions pour référence ultérieure.

Des pieces de rechange, y compris des garde-corps supplémentaires, peuvent étre obtenues aupres de
n’'importe lequel de nos meubles Caramia.

MISE EN GARDE: TOUT LE MATELAS UTILISE DANS CE LIT SUPERPOS'E DE 39 POUCES (99CM),
FOND DE 54 POUCES (1370 CM), LONGUEUR DU MATELAS AVEC UNE EPAISSEUR NE
DEPASSANT PAS 8 POUCES (20,3 CM).

Toujours la poussiére avant le nettoyage et le Polissage
Se soucier Nettoyage, polissage

Dust furniture weekly with a Avoid using commercial cleaning product since
lint-free cloth dampened this will cause yellowing.

cleaner. Do not use window cleaners; they contain

Polish furniture every four months. ammonia which attacks the lacquer.

To clean your furniture, use Il faut se méfier

a soft damp cloth with a small Liquid left on the surfaces (for a period of more or
amount of mild soap. less 24 hours) will cause the finish to peel and flake.
Wipe immediately with a dry cloth. Avoid placing hot items directly on wood

Soleil surface, this will damage the finish.

Prolonged exposure to direct Avoid placing items with rubber feet or plastic
sunlight can cause fading of placemats on your furniture, they leave indelible
the finish. marks on the finish.



. 1 Woodslea Road, Brampton, Ontario L6T 5P2, Canada
C a ra l]\ l a Teléfono: 905 361-1970 Fax: 905 361-1969
Lisnea gratuita: 1-877-728-0342
www.caramiafurniture.com

LEA TODAS LAS INSTRUCCIONES ANTES DE ENSAMBLAR Y USAR LA CAMA BUNK

PARA EL USO FUTURO Y LA REFERENCIA CONSERVE ESTAS HOJAS DE INSTRUCCIONES Y
HERRAMIENTAS DE MONTAJE DE CRIB EN EL SACO ORIGINAL Y ASEGURESE AL SOPORTE
DE COLCHON CON LAZOS DE PLASTICO.

A\ ADVERTENCIA!

e Siga la informacién de las advertencias que aparecen en la estructura del extremo de la litera superior
y en la caja de carton. No quitar etiqueta de advertencia de la cama.
e Utilice siempre el tamafo recomendado de colchones o soportes de colchén, o ambos, para ayudar a
prevenir la posibilidad de atrapamiento o caidas.
® | a superficie del colchon debe estar al menos 5 pulg. (127 mm) debajo del borde superior de las barandillas.
® No permita que nifios menores de 6 afios usen la litera superior.

e \Verifique peridédicamente y asegurese de que la barandilla, la escalera y otros componentes estén en su
posicion correcta, libres de dafos, y que todos los conectores estén apretados.

e No permita juegos bruscos sobre o debajo de la cama y prohiba saltar sobre la cama.

e Siempre use la escalera para entrar y salir de la litera superior.

o No utilice piezas de repuesto. Pongase en contacto con el fabricante o distribuidor para obtener piezas
de repuesto.

o El uso de una luz nocturna puede proporcionar precaucion de seguridad adicional para un nifio que usa la
litera superior.

e Siempre use barandas en ambos lados largos de la litera superior. Si la litera se colocara al lado de la
pared, el La barandilla que recorre toda la cama debe colocarse contra la pared para evitar que quede
atrapada entre la cama y pared.

oE| uso de agua o colchones de flotacion para dormir esta prohibido.

PELIGRO DE ESTRANGULACION: nunca coloque ni cuelgue articulos en ninguna parte de la litera que
no estén disefiados para usar con la cama; por ejemplo, pero no limitado a, ganchos, cinturones y cuerdas
para saltar.

Guarde estas instrucciones para referencia futura.

Las piezas de repuesto, incluidas las barandillas adicionales, se pueden obtener de cualquiera de nuestros
muebles Caramia

PRECAUCION: CUALQUIER COLCHON UTILIZADO EN ESTA CAMA DE CAMA SUPERIOR 39
ULGADAS (99 CM), INFERIOR 54 PULGADAS (1370 CM), LONGITUD DEL COLCHON CON UN
ESPESOR QUE NO EXCEDE 8 PULGADAS (20,3 CM).

Siempre polvo antes de limpiar y pulir

Cuidado Limpieza y pulido

Dust muebles semanalmente co Evite el uso de productos de limpieza comerciales
un pafo sin pelusa humedecido ya que esto causara el amarillamiento.

limpiador. No utilice limpiadores de ventanas; Contienen
Muebles polacos cada cuatro meses. amoniaco que ataca la laca.

Para limpiar sus muebles, utilice un Tener cuidado

pafio humedo suave con una pequefia  E| |iquido que queda en las superficies (por un
cantidad de jabon suave. Limpie periodo de mas o menos 24 horas) hara que el
inmediatamente con un pafio seco. acabado se despegue y escamosa.

Sol Evite colocar objetos calientes directamente sobre
La exposicion prolongada a la la superficie de madera, esto dafiara el acabado.
luz directa del sol puede causar Evite colocar objetos con pies de goma o manteles
la decoloracion del acabado. de plastico en sus muebles, dejan marcas

indelebles en el acabado.



Hardware List Quincaillerie Lista de piezas page>

1 16 pes / 16 pieces / 16 piezas 9 16pcs /16 pieces /16 piezas

YUY

Allen head bolt M6 x 80 mm Allen head bolt M6 x 60 mm 4 Broge P 4 pes / 4 pigces | 4 piezas
Boulon & téte Allen M6 x 80 mm Boulon a téte Allen M6 x 60 mm Eepiga motalica
Perno hexagonal M6 x 80 mm Perno hexagonal M6 x 60 mm D12 x 100 mm
—— “M m_ﬂwomﬂ @ 56 pcs/ 56 pieces / 56 piezas N 1 pc/ 1 piéce/ 1 pieza \_ O 12 pes /12 pieces / 12 piezas

A

16 piezas f i
Barrel nut Wood screw Ai_ All
- e en ke m
Ecrou & port e cylindrique Vis 3bolS y |Allen head bolt M6 x 40 mm

Tuerca cilindrica Tornillo para madera Clé Allen Bou on a téte Allen M6 x 40 mm
(M6 x 13 mm) 8 x 2.5 cm (1 in/po/pulg) Llave Allen Perno hexagonal M6 x 40 mm

Component List Liste des pieces Lista de componentes

ie i 1 pc/1piéce/ 1 pieza
WA _8/ /1 piéce / 1 pieza O P _o__zm_Dm __EM%_UO% S D 4 pcs/4 _o_momm 4 piezas

S FORLEFT MARCHE PELDANO
% STAIR GAUCHE IZQUIERDA

2 pcs/ 2 pieces / 2 piezas

INSIDE
LEFT
INTIRIEUR
GAUCHE
INTERIOR A LA|
IZQUIERDA

INSIDE
FOR RIGHT
STAIR
INTERIEUR POUR
MARCHE DROITE
INTERIOR PARA
PELDARO
DERECHO

Upper front guardrail r
Garde-corps avant supérieu
Barandal superior delantero

INSIDE
RIGHT
INTIRIEUR
DROIT
INTERIOR A LA
DERECHA

Upper head board U back drail
Lower bed end ._m%m de it (haut) Upper footboard pper back guardrail
Base du lit Cab ; Piedde it (haut) Garde-corps m_.:mﬂ.m supérieur
Cabeceralpiecera de cama inferior abecera superior Piecera superior barandal superior trasero
4 pcs / 4 pieced 4 piezas > 2 pcs /2 pieces / _I_ _ 1 pc/ 1 piéce/ 1 pieza
m ﬂ = 2 piezas

1 pc/1piéce/ 1 pieza

&
Guardrail centre support

Soutien central & du garde-corps O N T
Soporte central del barandal

2 pcs / 2 pieces / 2 piezas

248 X 30 x 30 mm

Middle support Centre Leg Double slat Single slat
Soutien centrale Pied central Support matelas double Support matelas simple
Pata central de Liston doble Liston simple

\4 Lower side rail r
\ Rampe latérales inférieu es O \_
Guia lateral inferior

Soporte intermedio




3

6 pcs / 6 pieces / 6 piezas

—A 2 pcs / 2 piéces / 2 piezas

Allen head bolt M6 x 30 mm
§§§§§H= Boulon & téte Allen M6 x 30 mm \ owwémwom Hm_u_umx
Perno hexagonal M6 x 30 mm | \ xeoxaumm

Step 1/ Etape 1/ Paso 1 e @

DETAILA1/
DETAILA1/
DETALLE A1

G2

Step 3 / Etape 3/ Paso 3

TWIN UPPER FB

ON LEFT SIDE

LIT SUPERIEUR SIMPLE
POUR COTE GA UCH

LITERA SUPERIOR INDIVIDUAL
PARA EL LADO IZQUIERDO

E

FOR STAIR ON LEFT
POUR ESCALIER GAUCHE
DE LA PELDANO EN EL
LADO IZQUIERDO

/ %

FOR STAIR ON RIGHT
POUR ESCALIER DROIT
DE LA PELDANO EN EL

LADO DERECHO

Step 2 ( Inside for LEFT stair)
Etape 2 (Intérieur pour escalier
gauche)

Paso 2 (Interior para peldafio

IZQUIERDO) TWIN UPPER FB

ON LEFT SIDE

LIT SUPERIEUR SIMPLE
POUR COTE GAUCHE

LITERA SUPERIOR INDIVIDUAL|
PARA EL LADO IZQUIERDO

N 16 pcs / 16 pieces/ 16 piezas

Allen head bolt M6 x 60 mm

Boulon a téte Allen M6 x 60 mm
Perno hexagonal M6 x 60 mm

4 pcs / 4 piéces / 4 piezas

4

Metal pin
Brochemétallique
Espiga metalica

12 pcs / 12 pieces / 12 piezas

Allen head bolt M6 x 40 mm
Boulon a téte Allen M6 x 40 mm
Perno hexagonal M6 x 40 mm

D12 x 100 mm
\_ 16 pcs / 16 pieces | 16 piezas m (= 16pcs/ |56 pcs /56 pigces /56 piezas N m =
16 pieces / ! N
(LT E 16piozas | (G %& 1pc/1piece/ 1pieza  Allen ke
Allen head bo t M6 x 80 mm b Wood screw Clé Allen
Boulon a téte Allen M6 x 80 mm oac._.mmvﬂwwﬁ_m%wm%cm ._.oq:___o_mnmmw%_wgmam& Llave Allen

Perno hexagonal M6 x 80 mm

(M6 x 13 mm)

8 x 2.5 cm (1 in/po/pulg)



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

